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R3. 4.19] 1 |RBEREH HARD (1, 031LE) 64, 953 97| 63, 004 0 01 63, 004 0 0 0 0 0 0
R3.4.20] 2 !EH#E%‘%E: EARO (3, 04258) . 191, 646 97| 185, 896 0 0] 185, 896 0 0 0| 0 0 0
R3. 4.21] 3 [RIR&H RE-HER 165, 000) 97| 160, 050 0 0| 160, 650 0 0 0 0 0 0
R3. 4. 21| 4 |WEER&H ENRIIE (40, 000RE) . FBAITAHR 752, 730§ 973 730, 148 0 0| 730, 148 0 0 ] 0 0 0
R3.4.21] 5 |RBEREH HEHD (B000RR) 59, 400] 97| 57,618 0 0 57,618 0 0 0 0 Q 0
R3.4.21| 6 |MEBEE HERO (1b00‘n’B) 11,006 971 10 57.0 ] 01 10,670 0 0 0 0 0 0
R3. 4. 21| 7 [RHB&E HRRG N, 117HE) 101, 848 97 98,792 ] 0] 98 792 0 0 0 0 | 0 0
CIR3.4.26) 8 |(NHKMUXZEEH (R3/4J;=l~ R4/3A5) 13,476 501 6,738 0 0 0 0 0 0 0 6,738 0
R3.5.6] § [EE&®ADF—#(3/1~3/31) 6, 5831 &0 3, 291 0 0 g 0 0 0 0 329 0
RI.5.7| 10 [HvUR 6,308 25| 1.577] 1,877 ] 0 0 ] 0 0 0 0
R3. 5. 10| 11 [B/FiER 1, 860| 100p = 1,860y 1, 860 0 0 0 0 0 0 0 0
R3. 6.15] 12 AU 6,763 25] 1,690 1,690 -0 R 0 0 0 ] 0 DI
R3.5. 18 13 [=He (ML) (6 A5 160, 000 50] 75, 000 0 0 0 0 0 0] 7% 000 0 []I
R3.5. 18] 14 |F|EHRFLATU-XK 4/1~4/30) 41,9101 50} 20, 955 0 0 0 0 0 0] 20, 955 0 0
R3.5. 24| 15 |=MEsERR (GRsc#ipl) (S A T2, 381 100) 2,381 0 0 6 0 0 2 381 0 0 0
R3. 5. 25 16 |HEFBUIMU -, HESHU -~ BGAM) 28, 930) 50] 14, 465 0 0 0 0 0 0 0] 14, 465 0
R3. 5. 25| 17 |HIEEEWAEA AHR 16, 200 50' 8, 1001 0 i} 0 0 0 0 0 g & 100
R3. 5. 25| 18 |FMEEEsE (AKEAFH) (5A4M) 3, 700 100' 3,700 0 0 0 0 01 3,700 it 0 ]
R3.5.251 19 Hou R 6,992 25| 1,748 1, 748 ] 0 0 0 0 0 0 ]
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R3.5.27| 20 |A & —xy MEEH (D LywtFsy) 1, 9801 &0 980 0f 0 0 0 "0 0 i 990 . ol
R3.5 31| 21 NTT:JE.:.L.:?‘-"/E X A=, o U7« BIRF) 5,148 &0 2,574 ] 0 0 0 1] 20 0 2,574 0
R3..5.31] 22 WITozA4F > (EHE BEER) (4/1~4/30) 11,2791 50 5,638 0 ] { 0f 0 0 0] . . 5639 Q
R3. 5. 31 23 ?iﬁFﬁ TBREE 4/23~5/25) 13,320] ~ 50| 6, 664 0 0 0 0 0 0 6, 664 0 0
“{R3. 5. 31| 24 |IAESERMWBMEEA AMR 150, 000 50_ 75, 000 0 0 il il 0 ] 0 0y 75 000
R3.5.31| 25 |MwmmiEae 4BA 7,874 25| 1,968 0 0 of 0 0 0 o| 1,968 0
ppen T, 821, £80 1.540,518] 6, 875 0]1, 306, 178 0 a| 6 081] 102, 619] 35 665] 83, 100
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RLE.2{ 1 |HVU 6.821| 25 1,705 1,705 0 0 0 0 0 0 0
RLE.7| 2 [HSHhyLE—H(4/1~4/30) 17,705 50]  8.852 0 0 0 0 0 0 8. 852 0
R3.6.10| 3 [HvUift 1.548) 25 1,887 1,887 0 ] 0 0 0 0 ol
R3.6.10| 4 |[BFrfes 13,130) 100] 13, 130I 13,130 0 0 0 0 0 0 ol
R3.6.18] 5§ [Huuyrs .40 1, asol 1,860 0 0 0 0 0 0 0
R3.6.17) 6 |FEE (M) (7 B4) 150,000] 50 75, oool 0 0 0 0 0 75. 000 0 0
R3.6.17| 7 1EHERILATU—AH(B/1~5/30) 43,307 50J 21.653 0 0 0 0 0 21,653 0 ol
R3.5.23) 8 [Hwy 6.352| 25 1.588 1,588 0 0 0 0 0 0 ol
RG24 9 |3AVERSAF— (BEEER) R3V/1~12/318% 33.000 wol 33, 000} 0 0 0 o] 33000 0 0 ol
R3.6.24| 10 ‘NTT:I EazH—arX(A—), X2 )T« FAH) 5,148 50| 2,574 0 0 0 0 0 0 2,51 0
RyL.6.24] 11 WNITZ7A+ 2R (BFHA EIFER) B/1~5/31) 9,508 50' 4, 7s4| 0 0 0 0 0 0 4,754 0
R3.6.24] 12 [RIEFH TR (5/26~6/22) 12,609 50I 6. 3o4| 0 0 0 0 0 5,304 0 oI
R3.6.24) 13 |EAEIAAREEH (R3.0~R4.8) 10,500 100 10, 5oo| 0 0 0 0 10,500 0 0 ol
RI.6.25] 14 |BEEHUTM —Z Y. MW —2H (6AH) 28.930| 50 14, 465 0 0 0 0 0 0 14, 465 ol
R3.6.25] 15 pEAMEGETH (EFEHM) (s A 3,007 1uo| 3,007 0 0 0 0 3,007 0 0 o]
R3.6.28) 16 |HiMIIEEE (BXERFM) (58%) 4, 300 1oo| 4, 3ool 0 0 0 0 4,300 0 0 ol
R3.6.28] 17 |Mv&—aw bEEB(ILYYETSY) 1,980 5o| 990I 0 ] 0 0 0 0 990 ‘oF
R2.6.20| 18 |WISIEENHBME AR 30. 600 sol 15. 300 0 0 0 0 0 0 0 15, 300
R3.6.30| 19 IHFHIBHABBE AH4R 150,000 5o| 75. 000 0 0 0 0 0 0 ol 75 oool
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R3.6.30| 20 |HEHEIEHEGAS) 7.795| 25} 1, 948} 0 0 0 0 0 0 0 o 1,948 ol
6A 549, 680 297, 817 20,170 0 0 0 0 0 50,807 102,957 33,583 90.300]
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RLZI 1 |HuyLi 6475 25§ 1, s1a| 1,618 0 0 0 0 0 0 0 oi
R.7.6| 2 |Eah o 2—H(E/1~5/31) 4,600 50I 2, 3uu| 0 0 0 ] 0 0 0 2, 300 q
R3.TIB| 3 |BFKE(7 AWRS) 14,190 mol 14, 190| 14, 190 0 0 0 0 0 0 0 o|
RL7.16] 4 |REDy—7FIL MM (AA~6R) 8, 400 1oo| 8, 400I 0 0 0 0 0 8, 400 0 0 oI
RI.7.16] 5 | AT - BRRE) BEH (R3. 6~R4.5) 5,200 1oo| 5. zooI 0 0 0 0 0 5,200 0 0 nI
R3.7.16] 6 | MW .A%) BREEH (R3.6~R4.5) 3.800] 100 3, aoo| 0 0 0 0 0 3.800 0 9 o|
RLIU| 7 |HwU4t 6.956] 25 1, 739! 1.729 0 0 0 0 0 0 0 ol
R3.7.20| & (HWEH (M) (8FD) 150, 000 50I 15, oool 0 0 0 0 o 0 75.000 0 uI
R3.7.211 9 |/—HWPC 147,070 5ol 13, 535' 0 0 0 0 0 0 0f 7353 oI
R.7.26| 10 |BEEZ(SANLL—N) 2,547 5o| 1.273 0 0 0 0 0 0 0 1,273 nl
R3.7.26] 11 |HEFEAUTMY —Z K., &MU —ZH THS) 28,930 sol 14, 465 0 0 0 0 0 0 0 14, 465 ol
R3,7.26] 12 |HIEFH T LT —A4(6/1~6/30) 41,010 5oI 20, 955i ] 0 0 0 0 of 20,955 0 oI
R3.7.26] 13 |HEREEEBIES &£¥(R3.7T~R3.12) 30,000 100I 30, oool 0 230, 000 0 ] o 0 0 0 oI
R3.7.26| 15 |FGAEEEENE (BXEHFEE (7R 3,850] 100 g, asoI 0 0 0 0 0 3,850 0 0 o]
R.7.27] 16 |H w4t 7102 25 1, ml 1. 798| 0 0 0 0 0 0 0 ol
RLL2M 1T (A= u bEREOLYyYRTS L) 1,980 50| 990' 0 0 0 0 0 0 0 990 oI
R3.7.271 18 |WEMEHEE (RETEHEE) (7R 2,645 IooI 2,645 0 0 0 0 0 2,645 0 0 ;I
RL7.27] 19 |BEEESEWBMA AMK 28, 800 5o| 14, 400 0 0 0 0 0 0 0 0 14, 400I
R3.7.271| 20 "JT;' f;ﬁ:ﬁ"g ParX(A—l. 2T AR, 10,538 sol 5. 259' 0 0 0 0 0 0 of s —ol
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R3.7.271 2t \NTTO 7oA+ R (BHmH HEER) (6/1~6/30) 1m,162f 50 5.581 0 o 0 0 0 0 0 0 5.581 0
R3.7.27| 22 |&EHRF ETRM®(6/23~7/26) 17.8986] 50 8,948 0 0 0 0 0 0 8.948 0 oi
R3.7.30] 23 |ECESEEANMEEA AR 150, 000 sol 75.uno| 0 0 0 0 0 0 0 0 0 75.000I
IBH 684, 141 370.956' 19,345 30. 000 0 0 0 23,895  104.503] 103,413 sg,4oo|
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RIL.B.Z{ 1 |MWEFHEEAM 7.835] 25 1, 9ss| 0 0 0 0 0 0 0 1,958 of
Ri.8.4) 2 [Hyus 5975 25 1. 743| 1,743 0 0 0 0 0 0 0 ol
R3.8.6) 3 [|fEE&RELYL2—H(6/1~6/30) 20,738 soi 10, 369| 0 0 0 0 0 0 0 10, 369 El
R3.8.10] 4 |BFFiEHE (8 AR 7, 440 100‘ 1. 44n| 7,440 0 0 0 0 0 0 0 o|
R3.B.12| 5 [HEEEEEE N3L., RESTd BFMHO 05258 21,280 mnl 21, zao! 0 0 21,280 0 0 0 0 0 oI
R3.8.15] & [HUYLit 7.646 25| 1.911 1,91 0 0 0 0 0 0 0 0
R3.8.170 7 |®IET (%) (9 RS 150, 000 sol 75. 000) 0 0 0 0 0 0| 76,000 0 0
R3.E1T| 8 |MIMEBEERRE(RII~RLD) 99, 000 1oo| 99, oool 0 99, 000 0 0 0 0 0 0 ol
RLBAT| 9 |EBHILATI—R£0/1~7/31) 43,307 sol 21, ssal 0 0 0 0 0 0 21,653 0 ol
73.8.20] 10 |2 EBE TN, BBSTT) E:XKHO (206:8) 28, 840 1oo| 28, s4o| 0 0 28, 840 0 0 0 0 0 ol
R3.B.24] 11 |HIEHG (FHE) +EAF R 3.032 50' 1, 51e| 0 0 0 0 0 0 0 1,516 jo
R3.8.25| 12 [FETRUTMU —R ¥, ES8U—2H (BHS) 2.9%0| 50| 4 455| 0 0 0 0 0 0 0 14, 465 oI '
R3.8.25] 13 [HUU R 7.352| 25 1, Bss| 1,838 0 0 0 0 0 0 0 7‘
R3.8.28| 14 lWWBARREZEX (BAZFHE) (8HS) 4.150] 100 4, 150' 0 0 0 0 0 4,150 0 0 oI
R3.B.26) 15 |fTPRENERM CGRFEFMED (B AW 2.1 mol 2,777 0 0 o 0 0 2,171 0 0 oI
R3.8.21| 16 | ¥ —Fw hiERE (TLyUXTI) 1,980 5o| 999 0 0 0 0 0 0 0 990 o]
R.8.21 17 WNTTaSazs—SalX(A—, 32 )T« A 5. 148 5o| 2.514 0 0 0 0 0 0 0 2,574 oI
R3.B.27] 18 INTTZrA R (FIEE EWEER) (1/1~7/31) 14,084 suI 7,042 0 0 0 0 0 0 0 7,042 (1
RI.8.21| 19 |HESA WEMS (7/27~8/25) 15,783 sol 2 sssi 0 0 0 0 0 of 7.8 0 oI
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R3.8.30| 20 |EFSEHIWBIISA AN 150, 000 5ol 75.oooi 0 0 0 0 0 0 0 0 15.000'
R3.8.31] 21 |EBEEMERIRER AR 33.300| S0 16.650I 0 0 0 0 0 0 0 0 16.650|
R3.8.31 22 |RETBHEMS(TRS) 8,945 25 2.zas| 0 0 0 0 0 0 0 2,236 oI
BEH 668, 552 4oe.azs| 12,932 99, 000 50,320 0 0 6.927] 104549 41,150 gl.asol
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R3.0.6| 1 [MESWALLHE-HTN~T/31) 7.670] 50 3,835 ¢ 0 0 0 0 0 3,835 ol
R3.9.1| 2 |[HvYyri 7.130] 25 1,792 1,782 0 0 0 0 0 0 ol
R3.9.13| 3 |EMEYvy—F I (RERHERSH 3 FEER) 8,800] 100} 8. aool 0 0 0 0 &, 800 0 0 oI
R3.9.14] 4 \BFrkd (s A¥Rka) 8.670] 10D 8, s7o| 8,670 0 0 ] 0 0 0 nl
R3.9.20] § [Avyre 6,247 25 1,561 1,561 0 0 0 0 0 0 0
RL.O.21| 6 |HIGFR () (1 08 150, 000/ 50' 75, onol 0 0 0 0 0 75. 000 0 0
R.9.21 7 |EEFRIFLATY—~IHB/1~8/31) 43,307 50 21, 653 0 0 0 0 0 21, 653 0 oI
R3.9.27| 8 |HIBEAUTMY —ZM, MY —2H (984} 28,930] 50 14.455I 0 0 0 0 0 0 14, 465 ol
RLO.27| 0 [HEEEEM (BEEFER) (9AM 4,000 wol 4, uoul 0 0 0 0 4,000 0 0 —o|
R3.9.27| 10 |HTRAREERY (RF%EFMED (984 2,733 1oo| 2, 133| 0 0 0 0 2,733 0 0 0
R3.9.27} 11 |Avi—F v FHERH(ILYyYRTSY) 1.080| 50 990I 0 0 0 0 0 0 990 oI
R3.9.28] 12 NTTaSaz=4—a X (A—b, EF2 VT4 FHEAY 5.148] 50 2.574| 0 0 0 ¢ 0 0 2,574 0|
R3.9.28) 13 INTITZ7+A4+ >R (BHEmR EBHER) 6/1~8/3D 9,191 5ol 4,595 0 0 0 o} 0 0 4,595 OF
R3.6.28| 14 |H¥ERT TR £ (8/26~9/26) 15,733] 50 7. assl 0 0 0 0 0 7,866 0 0
R3.9.28] 15 |[ECHEEEIWARIIREA AHH® 21, 600 50F 10, sool 0 ¢ 0 0 0 0 ¢ 10, BDOI
R1.9.30| 6 |HEZDHIBE AGE 150,000 50 75.ooo| 0 0 0 ] 0 0 0 75, oooI
R3.9.30| 17 |#HEEEHE (8 A 7.796] 25 1, 949| 0 0 0 0 0 0 1,049 ol
SAM 478,935 246, 273| 12,013 0 0 0 15.533] 104,519 28, 408 85, soo|
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R3.10,3} 1 |HYUR 6,775 zsl 1, sssl 1,693 0 0 0 0 0 0 0
R3.10.4| 2 |EIERM GER 2,980 50‘ 1, 490| 0 o 0 0 0 0 1,490 0
R3.10.6] 3 |H#EEWAHYL4—K(8/1~8/31 11.125]  s50] 5. 562 0 0 0 0 0 0 5.562 oi
R3.10.12] 4 |[HV )it 6,718] 25 1,679‘ 1,679 0 0 0 0 0 0 0
R3.10.16| 5 |RESy—+) BEHEHIA~IA) 8, 400 100' 8, 4oo| 0 0 0 0 8,400 0 0 0
R3.10.18) 6 |FEIEM (G8t) (1185 150, 000 sol 7, oool 0 0 0 0 o 75.000 0 q
R3.10.19] 7 |BFFHRIE (1 0 BMRS) 10, 530 100! 10, 530! 10.530 0 0 0 0 0 0 oI
R3.10.19] 8 |HFAHFL AT Y- (9/1~9/30) 41,910 5o| 20, 955 0 0 0 0 0 20. 955 0 oI
R3.10.241 9 [|HY U 7.0 25 1.767 1,767 0 0 0 0 0 o - oI
BHRUIN —Z 8, EaRY—28 (1085
R310.25| 10 |t | e (154 3. 9 10 ~22,6.9 38,170 sul 19, 085 0 0 0 0 0 0 19, 085 ol
R3.10.26| 11 [RRRAREEEM (MERHFM (1 0AM 2,17 100| 2.777 0 0 0 0 2.1 0 0 o‘
R3.10.26] 12 |WHAAEEEEE (BAEAFM) (10RAH) 4,150 1ooI 4,150} 0 i} 0 o 4 150 0 0 ol
R3.10.26] 13 [NTTazaz=4—4 3 X (A—, £32 )T+ HAH 5,148 5o| 2,574 0 0 0 0 0 0 2,574 0
R3.10.26] 14 INTTZ 74+ 22 (RFEH EBIEMN) (9/1~8/30) 10,716 5o| 5, 358] 0 0 0 0 0 0 5, 358 0
R3.10.26] 15 |HIERT BTHRHE(9/27~10/24) 13, 966 sol 6,983 ¢ 0 o 0 0 6, 983 0 ol
R3.10.26] 16 |BIEEHHERA A84R 33, 480 sol 16, 740 0 0 0 0 0 0 0 16, IBI
R3.10.27| 17 [A v —F v FHERGE(TLYyYR TS ) 1,980 sol ggol 0 0 0 0 0 990 ol
RI.10.29] 18 |EUIEEZEHBIIRA AR 150, 000 5ol 75, 000 0 0 ] 0 0 0 0 75. oooI
R3. 10.30} 19 |HIEASH AR +HiRAFHE 3, 333‘ sol 1. 666 0 0 0 0 0 0 1. 666 q
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1088 508, 228 262.300]  15.660 0 0 0 0 ol 53| 102088 36.725] 91749
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RLITY| 1 | EEHE (0B 7.790| 25 1,947 0 0 0 0 0 0 1,947 0

R3.1L1| 2 |Hu) it 7,229 25 1.807 1,807 0 0 0 0 0 0 0

RIL11.8| 3 [EEWATLE—H(9/1~9/30) 5.636] 50 2,818 0 0 0 0 0 0 2,818 ol

R3.11L9L 4 | HWy i E 21 ] 187 1,877 0 0 0 0 0 0 —ol
R3.T.10| 5 |ERFHR® (11 AR 10,230 100} 10, zaol 10, 230 0 0 0 0 0 0 —ol
R3.11.16[ 6 |BERTLNATU—RLW0/1~10/31) 43,3071 50 21,553' 0 0 0 0 0 21, 653 0 ol
RI11.161 7 |EEEERESB(R2. 11A~R3.108) 6. 600 1ooi 6, sool 0 0 0 0 6. 600 0 0 oI
R3.11.19) 8 |HY YL 7,909 25| 1,977 1,977 0 0 0 0 o 0 —ol
RL1L.24] 9 |HEA (BEK) (1284 150, 000 50| 75, 000} 0 0 0 0 0 75, 000 0 ol
R3.11.25| 10 |REGFFUTMY —ZH4, HEWU—ZH (11B4) 28.930 sol 14, 465 0 0 0 0 0 0 14, 465 oI
RI1L2G[ 11 |WBRASGAIL, BEF—F)+EAESY 7,436 5o| 3 ml 0 0 0 0 0 0 3.718 oI
RA.1.26| 12 |¥AMARRERN GRFEHFM (1184) 2,733 1oo| 2, 733| 0 0 0 0 2,733 0 0 ;I
Ra.11.26| 13 (WFRASEERM (EXEFFH) (1184 4,000 100' 4, oool 0 0 0 0 4,000 0 0 —ol
R3.11.28| 14 |Hvu o 7.185) 25 1,796 1.796 0 0 0 0 0 0 0
RI.1L29 15 (o2 —Fy MERB (DL YT 1,980 sol 990 0 0 0 0 0 0 990 ol
R3.11.30( 16 INTTIZa=4—2 320X (A—, 2FaUF s FEY 5,148 50' 2.5714 0 0 0 0 0 0 2,574 ] |
R3.11.30[ 17 INTTO 7422 (BERE E/ER) (10/1~10/31) 10.704] 50| 5, 352 0 0 0 0 0 0 5,352 0
k3. 11.30] 18 FHER EEHE0/25~11/24) 14,585 50| 7,297 0 0 0 0 0 1,207 0 o]
RS.1.30| 19 |EISEEHEABIBE AR 29,760 sul 14, aso| 0 0 0 0 0 0 ol 14,880
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R3.11.30{ 20 |BISEBWEIER AfE 150,000} 5o} 75,oool 0 0 0 0 0 0 0 0 75. 000]
R3.11.30| 21 [HWBEHE(108%) 7.883| 25 1.9eo| 0 0 0 0 0 0 0 1.960 |
Ak 516, 526 268,614 17,607 0 0 0 of raam] roa.es0| 33824 a9 sa0f
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R3.12.6] 1 &AL H—H(10/1~10/31) 42,754 50 21,31 0 0 0 0 0 0 21.377 0
R3.12.10] 2 |BFrER#E(1 2 BEAKS) 4,650 100] 4650 4,650 0 0 0 0 0 0 ol
R3.12.18] 3 [HUyLR 1.615 25 1,903 1,903 0 0 0 0 0 0 o|
R4.12.20) 4 |BEHFILNATU=ZHA1/1~11/30) 41.910 sol 20, 955 0 0 0 0 0 20,955 0 ol
R3.12.20 & |FHEAT (A (1AM 150, 000 sol 75, 600] 0 0 0 0 0 75, 000 0 oI
R3.12.27| 6 {HIHEEHUTNY—ZH, WEBU—2H (12ZAS) 28,930 5o| 14, 465 0 0 0 0 0 0 14, 465 ol
R3.12.27] 7 (EHAS GG +HEAFHH 3,082 so| 1,518 0 0 0 0 0 0 1,516 ol
R3.12.27] 8 [PAEREEK (HEHM) (1285 3,042 mol 3.042 0 0 0 0 3,042 0 0 oI
R.1Z.27} 9 Jﬁ’rﬁﬂﬁsﬁﬂ (BFEFFEM (1285 4,300 wul 4, 3uo| 0 0 0 0 4,300 0 0 ol
RLI12.21] 10 |aAYbS4+— (BREEEH]) R4 1/1~6/30A% 33, 000 100| 33, oool 0 0 0 0 33.000 0 o ol
R312.27] 11 |A & —Fy FEEH(TLYYRTS ) 1,980 sol 990| 0 0 0 0 0 0 990 o|
Re.12.28( 12 |RETFBNERE A% 150, 000 5o| 75, ooo’ 0 0 0 0 0 0 0 18, oool
R3.12.28) 13 |BFEERHBRE AR 29, 205 so' 14,647 0 ] 0 0 0 0 o 14,647
R3.12.29| 14 |HvY s 6,900 25 1.726 1,725 0 0 0 0 0 0 ol
R3.12.31] 15 NTTaSaz=4—2 32X (A—)L, EFXaUF 1 FEHR 5,148 sol 2,574 0 0 0 0 0 0 2,61 —ol
R3.12.31] 16 iNTTD‘?ar-J-:zx (B EER (11/1~11/30) 10, 651 5o| 5,325 0 0 0 0 0 0 5, 325 oI
R3.12.31 17 |EPFA B E(1/25~12/22) 15, 867 sol 7.933] 0 0 0 0 0 7,933 0 jo

1288 539,074 268, 402 8,218 0 0 0 40,342 103,888  46.247] 88,647
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RAL4 1 |IEFEEHE( 1AL 7.868] 25 1,967 ] 0 0 0 0 0 0 0 1,967 ) |
Ri.1.6] 2 [EWAHDLEZ—¥A1/1~11/30) 6, ogsJ sul 3.049 0 0 0 0 0 0 0 0 3,049 0
Re.1.14 3 |BFRE (O BRGRS) 11,190 mul 11,190| 11,190 0 0 0 0 0 0 0 0 oI
R&.1.15| 4 [HV Y 1,600 zsl 1, sool 1,900 0 0 0 0 0 0 0 0 ol
Re.1.17) 5 |FEIEEF (MR (2 A4 150, 000 5o| 75, 000 0 0 0 0 0 0 ol 75000 0 o|
R4.1.18| 6 |fBEEEEMEER P8R4 1~R4.6) 30, 000 mol 30, 000 0 30, 000 0 0 0 0 0 0 of or
RA1.18| 7 |MEBRRTLATU—R{L(12/1~12/31) 43,307 sul 21,653 0 0 0 0 0 0 ol 21683 0 o'
R4.1.23) 8 [HuUULit 7.460) 25 1,865 1,865 0 0 0 0 0 0 0 0 0
Ra.1.25] 9 |EIEARUNY —ZH, 8EBY—-2H (1AM 28,930 5or 14, 465 0 0 0 0 0 0 0 0 14,485 0
Re.1.25| 10 |BBEHHBIREA AHR 29,760} 50 14, 880} 0 0 0 0 0 0 0 0 0 14, seo|
R4.1.26| 11 |EAREEERY (ERSEEMED (1 B 2,381 IOOI 2,381 0 0 0 0 0 0 2,381 0 0 ol
R4.1.26| 12 |WEPAREETH (BFREREM) (1R 3,550 1oo| 3. 550| 0 0 0 0 0 0 3.550 0 0 0
R&1L27] 13 |8 —Fu FEEB(TLYYETS L) 1,980 50| ssoF 0 0 0 0 0 0 0 0 930 0
Re.1.28] 14 INTTaZaz=s—darX(GA—-L, £FaUF 1 HAH 5,148 50| 2.5M 0 0 0 0 0 0 0 0 2,574 ol
R4.1.28] 156 INTTZ 7 >R (B RBEEMR) (12/1~12/31) 10,710 sol 5,355 0 0 0 0 0 0 0 0 5,355 ol
R4.1.28] 16 [HIR BWRME(12/23~1/26) 21,361 5u| 10, BBOi 0 0 0 0 0 0 0 10, 680 0 0
ReL3| 17 |EREEEEMERIER A3 150. 000 50' 75. 000, o 0 0 0 0 0 0 0 0 75, 000
R4.1.31| 18 |HEHEFEHE( 2A9) 7.885] 25 1,873 0 0 0 0 ] 0 0 0 1.973 ol
15N 525, 239 278,472 14,955 30,000 0 0 0 0 5931 107.333]  30.373] 89, ssol
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RA 25 1 [HUU 7, 826 zsl ! 956 1, 956 '. 0 uH 0 0 L (] i
Ra.2.7| 2 |EHEBHOF—-H (12/1'~12/31} 22, 024 5o| 11,012 0 0 0 ul 0 0 11, 072 0
RA.2.16|. 3 |H|EERT (Huft) (3 A4 150, 000 5o| 75, uunl 0 0 | n’ 1] 75, 000 0 0
RA.216| 4 |REDw—FJL BEE(0R~128) 8, 400 mnl 8, 4ﬂol 0 0 0 0 8,400 0 0 0|
Re.2.17| 5 |EEHRILATU-—R£L( /1~1/31] 43,307 50 . 553' 0 0 0 0 0 21, 653 0 nI
RA2IT| & [HUU L 7.805| - 25 1, 951 1,951 ¢ 0 0 0 0 0 ul
RA2 22| -7 |BISERIMEBIRER AMR 20, 760| soi 14, 880 ] ] q 0 0 0 0 14, saol
R4.2.250 B |BREATUTMU —RE, AWMU -—2H (2A4) 28, 930 5o| " 14, 465 0 ] N 0 0 0 14, 465 ul
RA225| 9 NTTAZa=&—aX(A—lb ££2VF IR 5,148 snl 2,574 ¢ 0 0 0 0 0 2,574 o
Ra.2.25| 10 INTTZ 74 F 2R (BHA BWERL (1/1~1/31) ' 13, 648 sul 6, 824 uI 0 0 ¢ 0 0 5, 824 0
RA.2.25( 11 |HEEEET MR (1/27~2/23) ' 1,336] - sul 9, 668 o -0 0 ¢ 9 9.668 -0 a
Ra228| 12 (FMIRSEEM (FFEHM)  (2A4) 2636 1ouI . .63 0 -0 of 0 2 63§ 0 o o
R4.2.28| 13 [FMESEE (BEEXEFM) (284) . 4, 000 _1nu| 4.0qu (] 0 (] 0 4000 0 0 ul
R4.2.281 14 |EEEEERMES AR 150, 000 .sul 75.0uu| 0 0 0 ] o) ] 0 75, nn—nl
R4 2. sz 15 |y —%y MEEE (TLyYRTS ) 1,980] 50 990' 0 0 -0 0 of i 980 ' ul
R4-2.28) 16 [HMBEERS (1AM 7,884 25 1,971 0 g 0 0. ] 0 1,971 _ ul
AN " 502, 684 252, 380 3,907 0 0 i 15,036] 106 321 37, 836 89, sanl
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RA.Z.Z| 1 [HYUY AR 7.412] 25 1, asol 1, 850 i 1] 0 0 0 [} 0 ) 0
RAIT| 2 [HESHNSLL—H(1/1~1/31) 7. 086 50| 3, saal 0 0 ol 0 0 0 ] 1] 3, 548 t
R4.3.10] 3 |BFFIR3E (3 BERKRD) 7. 440 qu T 44ﬂ| 7. 440 0 0 0 0 0 ] t 0 i
R4.3.15| 4 [HUU 4t 7,650 25 1,912 1,812 0 0 0 0 0 ] )] ] 0
RA.3.21] 5 [HY UK 8206 25 2. 074 2,074 0 0 0 0 0 0 1 0 of
R4.3.25] 6 |EEEFAUMY —ZH., #ESH8Y - AN 28,830 50 14, 465 0 0 0 0 0 0 1] o 14, 465 0
R4.3.28) 7 |SiPABESEH (BESEEA) (3 A4 2, 816} wui 2,910 0 0 0 0 0 0 2,910 ul 0 ul
R4.3.28| 8 |SRAVEEEE (RAEHRIM) (3AM) 4,150 1uu| 4, 150] 0 ¢ (] 0 0 0 4,150 u! 0 nl
RA.3.28| 9 |A>dp—2y MERE (T LyYRTSY) 1, 980 5u| ggnl 0 ¢ 0 0 0 0 0 0 930 ul
R4.3.20| 10 |HEEBRHDEE AGRK 37, 200 5n| 18, sunl [ 0 0 ] 0 ] 0 0 0 18, sunl
R33N 11 |EREEESENGHEIRBD AR 150, 000 ﬁul 75, uuul 1] 0 ] ] ] 0 0 ul 0 75 nuul
R4.2.31| 12 |[#FEIFIES (2 A5 7.791 zsl 1, 947 0 0 0 ¢ 0 0 0 uI 1,947 ul
32113 270, 845 134 886] 13,276 0 0 1 0 0 7, 060 o] 20950 93, 00|
R 7, 066, 194 4337, 705]  145.107| 159, 000 0| 1,356, 298 0 0] 200272 1,043,977  448,174] o984 877




